I’ve provided the solution.  Please provide a detailed response of how to obtain the solution.

[image: image1.png]Problem 5. (10 points) Solve the initial value problem

y(0) = 2.

‘What is the largest interval of existence?




[image: image2.png]The initial condition y(0) = 2 implies 2 or C'=—1/2. Thus the solution is

]

The solution blows up as ¢ — 1/2, and the largest interval of existence is (—co, 1/2).

Note that you could have used any variable for the independent variable (i.e., y = y(t) or
y=y(x), ete.).




